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(1) Oue of the following is the point (z.4) = (—1,—+3) in polar coordinates
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. The curve whose polar-equation is given by =6 is symmetric about v
(2) the x-axis / \
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) None of the above.
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5) Symmetric about the y-axis only.
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2£d) Symmetric about the Origin.
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1.-The polar curye in : 1 '
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¢b) i e o |
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2. The number of points of Intersection of the curves =
(a) 0.

(b) 2.
(c) 4.
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3. The set of points in the plane whose polar coordinates satisfy the equation
r = secl isrepresented by
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(a) the line y =-x ~ | e |
( AD) a vertical line through (1,0). Y Tﬂ -: i

(c) theliney =x . e /H_ E
(d) a horizontal line through (1,0).
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15. 'The point (z,y) = (1,v/3) has polar coordinates “ |
3). J=
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(d) None.
2 cos b intersect —

2. The
polar curves r =1 + cosf and 7 =

(a). Only at.the point (2,0).
(b) Only at the origin.
At the origin and at (2,0).

(d) The curves do not intersect.
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Stion 2.(72%) Circle the correct answer ;
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(17) The curves r = 7 Cos@ and r — 7 _ c08 8 intersect;is S
(a) one point V
(b) two points
: @? three points = - |
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=0
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(ﬂ) 0 ' ; ( (a5 & ') (--ii"
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(d) 3 -

19) The distance from the point (2, —3, 4) to the plane z + 2y + 22 =13 is
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(b) y-axis

@F origin
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“(b) sec(s)
(c) tan(?)
(d) tan(z)
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(17) The polar curve r =/é(%) is symmetric about %
(a) z—axis.
@ 7/ —axis.
(c) origin.
) All of the above.
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